

## On Some Inequalities for Convex and $s$ -Convex Functions

M. EMİN ÖZDEMİR<sup>1</sup>, MUSTAFA GÜRBÜZ<sup>2</sup> AND MERVE AVCI ARDIÇ<sup>3</sup>

<sup>1</sup> Uludağ University, Education Faculty, Department of Mathematics, 16100, Bursa, Turkey

<sup>2</sup> Ağrı İbrahim Çeçen University, Faculty of Education, Department of Mathematics, 04100, Ağrı, Turkey

<sup>3</sup> Adıyaman University, Faculty of Science and Letters, Department of Mathematics, 02100, Adıyaman, Turkey

### Abstract

In this paper, we present some integral inequalities for convex and  $s$ -convex functions and we give some remarks and propositions.

**Keywords:** Convex functions, Hermite-Hadamard Inequality,  $s$ -convex functions.

### 1. Introduction

Let  $f$  be defined from  $I$  which is a subset of  $[0, \infty)$  to  $\mathbb{R}$  and a differentiable mapping on the interior of the interval  $I$  ( $I^\circ$ ) such that  $f' \in L[a, b]$  where  $a$  and  $b$  belongs to  $I$  with  $a$  is less than  $b$ . If  $|f'|$  is bounded and its upper bound is  $M$ , then the inequality given below holds:

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(u) du \right| \leq \frac{M}{b-a} \left[ \frac{(x-a)^2 + (b-x)^2}{2} \right]. \quad (1.1)$$

This inequality is Ostrowski inequality which is well known in the literature (see [5]). One can check [6] to see some new results related to Ostrowski inequality.

The function  $f$  defined from  $[a, b]$  interval which is a subset of  $\mathbb{R}$  to  $\mathbb{R}$ , is called to be convex if the inequality given below holds

$$f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

Received: 27.04.2018

Revised: 24.05.2018

Accepted: 31.05.2018

Corresponding author: Mustafa GÜRBÜZ, PhD

Ağrı İbrahim Cecen University, Faculty of Education, Department of Mathematics, Ağrı Turkey

E-mail: [mgurbuz@agri.edu.tr](mailto:mgurbuz@agri.edu.tr)

Cite this article as: M. E. Özdemir, M. Gürbüz and M. Avcı Ardiç, On Some Inequalities for Convex and  $s$ -Convex Functions, Eastern Anatolian Journal of Science, Vol. 4, Issue 1, 37-44, 2018.

for all  $x, y \in [a, b]$  and  $\lambda \in [0, 1]$ . If  $(-f)$  is convex then  $f$  is called as concave.

In [3], Hudzik and Maligranda defined a new class of convex functions namely  $s$ -convex in the second sense..

This class of functions are defined from  $R_+$  to  $R$  and it is said to be  $s$ -convex in the second sense providing that the inequality

$$f(\alpha x + \beta y) \leq \alpha^s f(x) + \beta^s f(y)$$

holds for  $\alpha, \beta \geq 0$  with  $\alpha + \beta = 1$  with some fixed  $s \in (0, 1]$  and for all  $x, y \in [0, \infty)$ .  $K_s^2$  is used to symbolise this class of functions.

For  $s = 1$  it is easy to see that, classical convexity is gathered from definition of  $s$ -convexity defined on  $[0, \infty)$ .

Alomari has handled the next equality to prove some theorems in [1].

**Lemma 1** [1] Let  $f: [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$ . For  $\lambda \in [0, 1]$ ,  $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$  and the mapping  $K(x, t)$  defined as.

$$K(x, t) = \begin{cases} t - \left( a + \lambda \frac{b-a}{2} \right), & t \in [a, x] \\ t - \frac{a+b}{2}, & t \in (x, a+b-x] \\ t - \left( b - \lambda \frac{b-a}{2} \right), & t \in (a+b-x, b] \end{cases}$$

we have

$$\int_a^b K(x, t) f'(t) dt = (b-a) \left[ \lambda \frac{f(a)+f(b)}{2} + (1-\lambda) \frac{f(x)+f(a+b-x)}{2} \right] - \int_a^b f(t) dt.$$

Now we will give some theorems including Ostrowski type inequalities and also remarks and propositions by using previous lemma proved by Alomari .

## 2. Main Results

**Theorem 1** Let  $f: I \subset \mathbb{R} \rightarrow \mathbb{R}$  be a differentiable and absolutely continuous mapping on  $I^\circ$  where  $a, b \in I$  with  $a < b$ . If  $|f'|$  is convex on  $[a, b]$  and  $f' \in L[a, b]$  we have

$$\begin{aligned} & \left| (b-a) \left[ \lambda \frac{f(a)+f(b)}{2} + (1-\lambda) \frac{f(x)+f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\ & \leq \left[ \frac{\lambda^3(b-a)^3}{24(x-a)} + \frac{(x-a)^2}{3} - \frac{\lambda(b-a)(x-a)}{4} + \frac{(a+b-2x)^2}{8} \right] \\ & \quad \times [|f'(x)| + |f'(a+b-2x)|] \\ & \quad + \left[ \frac{(2x-2a-2\lambda(b-a))^3}{24(x-a)} + \frac{(x-a)^2}{3} + \frac{(2a-2x+\lambda(b-a))(x-a)}{4} \right] \\ & \quad \times [|f'(a)| + |f'(b)|] \end{aligned}$$

for all  $\lambda \in [0,1]$  and  $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$ .

**Proof.** From Lemma 1 and using the properties of the modulus, we have

$$\begin{aligned} |M| &= \left| (b-a) \left[ \lambda \frac{f(a)+f(b)}{2} + (1-\lambda) \frac{f(x)+f(a+b-x)}{2} \right] - \int_a^b f(t) dt \right| \\ &\leq \int_a^b |K(x,t)| |f'(t)| dt \\ &= \int_a^x \left| t - \left( a + \lambda \frac{b-a}{2} \right) \right| |f'(t)| dt + \int_x^{a+b-x} \left| t - \frac{a+b}{2} \right| |f'(t)| dt \\ &\quad + \int_{a+b-x}^b \left| t - \left( b - \lambda \frac{b-a}{2} \right) \right| |f'(t)| dt. \end{aligned}$$

Since  $|f'|$  is convex on  $[a, b] = [a, x] \cup (x, a+b-x) \cup (a+b-x, b]$ , we have

$$|f'(t)| \leq \frac{t-a}{x-a} |f'(x)| + \frac{x-t}{x-a} |f'(a)|, \quad t \in [a, x];$$

$$|f'(t)| \leq \frac{t-x}{a+b-2x} |f'(a+b-x)| + \frac{a+b-x-t}{a+b-2x} |f'(x)|, \quad t \in (x, a+b-x];$$

and

$$|f'(t)| \leq \frac{t-a-b+x}{x-a} |f'(b)| + \frac{b-t}{x-a} |f'(a+b-x)|, \quad t \in (a+b-x, b];$$

which follows that

$$\begin{aligned}
 |M| &\leq \int_a^x \left| t - \left( a + \lambda \frac{b-a}{2} \right) \right| \left[ \frac{t-a}{x-a} |f'(x)| + \frac{x-t}{x-a} |f'(a)| \right] dt \\
 &+ \int_x^{a+b-x} \left| t - \frac{a+b}{2} \right| \left[ \frac{t-x}{a+b-2x} |f'(a+b-x)| + \frac{a+b-x-t}{a+b-2x} |f'(x)| \right] dt \\
 &+ \int_{a+b-x}^b \left| t - \left( b - \lambda \frac{b-a}{2} \right) \right| \left[ \frac{t-a-b+x}{x-a} |f'(b)| + \frac{b-t}{x-a} |f'(a+b-x)| \right] dt \\
 &= \int_a^{a+\lambda\frac{b-a}{2}} \left( a + \lambda \frac{b-a}{2} - t \right) \left[ \frac{t-a}{x-a} |f'(x)| + \frac{x-t}{x-a} |f'(a)| \right] dt \\
 &+ \int_{a+\lambda\frac{b-a}{2}}^x \left( t - a - \lambda \frac{b-a}{2} \right) \left[ \frac{t-a}{x-a} |f'(x)| + \frac{x-t}{x-a} |f'(a)| \right] dt \\
 &+ \int_x^{\frac{a+b}{2}} \left( \frac{a+b}{2} - t \right) \left[ \frac{t-x}{a+b-2x} |f'(a+b-x)| + \frac{a+b-x-t}{a+b-2x} |f'(x)| \right] dt \\
 &+ \int_{\frac{a+b}{2}}^{a+b-x} \left( t - \frac{a+b}{2} \right) \left[ \frac{t-x}{a+b-2x} |f'(a+b-x)| + \frac{a+b-x-t}{a+b-2x} |f'(x)| \right] dt \\
 &+ \int_{a+b-x}^{b-\lambda\frac{b-a}{2}} \left( b - \lambda \frac{b-a}{2} - t \right) \left[ \frac{t-a-b+x}{x-a} |f'(b)| + \frac{b-t}{x-a} |f'(a+b-x)| \right] dt \\
 &+ \int_{b-\lambda\frac{b-a}{2}}^b \left( t - b + \lambda \frac{b-a}{2} \right) \left[ \frac{t-a-b+x}{x-a} |f'(b)| + \frac{b-t}{x-a} |f'(a+b-x)| \right] dt \\
 &= \frac{1}{24} \left[ 3(a+b-2x)^2 + 8(a-x)^2 - 6(a-b)(a-x)\lambda + \frac{(a-b)^3\lambda^3}{a-x} \right] \\
 &\times (|f'(x)| + |f'(a+b-x)|) \\
 &+ \frac{1}{24} \left[ 4(a-x)^2 - 6(a-b)(a-x)\lambda + 6(a-b)^2\lambda^2 - \frac{(a-b)^3\lambda^3}{a-x} \right] \\
 &\times (|f'(a)| + |f'(b)|)
 \end{aligned}$$

where we use the facts

$$\begin{aligned}
 \int_a^{a+\lambda\frac{b-a}{2}} \left( a + \lambda \frac{b-a}{2} - t \right) (t-a) dt &= \int_{b-\lambda\frac{b-a}{2}}^b \left( t - b + \lambda \frac{b-a}{2} \right) (b-t) dt \\
 &= \frac{1}{48} \lambda^3 (b-a)^3,
 \end{aligned}$$

$$\begin{aligned}
 \int_{a+\lambda\frac{b-a}{2}}^x \left( t - a - \lambda \frac{b-a}{2} \right) (x-t) dt &= \int_{a+b-x}^{b-\lambda\frac{b-a}{2}} \left( b - \lambda \frac{b-a}{2} - t \right) (t - a - b + x) dt \\
 &= \frac{1}{48} (2x - 2a + a\lambda - b\lambda)^3,
 \end{aligned}$$

$$\begin{aligned}
 \int_x^{\frac{a+b}{2}} \left( \frac{a+b}{2} - t \right) (t-x) dt &= \int_{\frac{a+b}{2}}^{a+b-x} \left( t - \frac{a+b}{2} \right) (a+b-x-t) dt \\
 &= \frac{1}{48} (a+b-2x)^3,
 \end{aligned}$$

$$\begin{aligned}
 \int_{\frac{a+b}{2}}^{a+b-x} \left( \frac{a+b}{2} - t \right) (a+b-x-t) dt &= \int_{\frac{a+b}{2}}^{a+b-x} \left( t - \frac{a+b}{2} \right) (t-x) dt \\
 &= \frac{5}{48} (a+b-2x)^3,
 \end{aligned}$$

$$\int_{a+b-x}^{b-\lambda\frac{b-a}{2}} \left( b - \lambda \frac{b-a}{2} - t \right) (b-t) dt = \int_{a+\lambda\frac{b-a}{2}}^x \left( t - a - \lambda \frac{b-a}{2} \right) (t-a) dt$$

$$= -\frac{1}{48}(2x - 2a + a\lambda - b\lambda)^2(4a - 4x + \lambda a - \lambda b)$$

and

$$\begin{aligned} \int_a^{a+\lambda\frac{b-a}{2}} \left(a + \lambda\frac{b-a}{2} - t\right)(x-t)dt &= \int_{b-\lambda\frac{b-a}{2}}^b \left(t - b + \lambda\frac{b-a}{2}\right)(t - a - b + x)dt \\ &= \frac{1}{48}\lambda^2(b-a)^2(6x - 6a + \lambda a - \lambda b). \end{aligned}$$

So, the proof is completed.

**Remark 1** In Theorem 1, if we choose just  $\lambda = 0$  and  $\lambda = 1$  with  $x = \frac{a+b}{2}$  we have Theorem 5 and Corollary 2 – (2) respectively which were proved in [2].

**Theorem 2** Let  $f: I \subset \mathbb{R} \rightarrow \mathbb{R}$  be a differentiable and absolutely continuous mapping on  $I^\circ$  where  $a, b \in I$  with  $a < b$ . If  $|f'|$  is  $s$ -convex on  $[a, b]$  and  $f' \in L[a, b]$  we have

$$\begin{aligned} &\left| (b-a) \left[ \lambda \frac{f(a)+f(b)}{2} + (1-\lambda) \frac{f(x)+f(a+b-x)}{2} \right] - \int_a^b f(t)dt \right| \\ &\leq \left[ \frac{2}{(x-a)^s(s+1)(s+2)} \left( \lambda \frac{b-a}{2} \right)^{s+2} + \frac{(x-a)^2}{s+2} - \left( \lambda \frac{b-a}{2} \right) \frac{(x-a)}{s+1} \right. \\ &\quad \left. + \frac{s2^s+1}{2^{s+1}(s+1)(s+2)} (a+b-2x)^2 \right] [|f'(x)| + |f'(a+b-2x)|] \\ &\quad + \left[ \frac{2}{(x-a)^s(s+1)(s+2)} \left( x-a-\lambda\frac{b-a}{2} \right)^{s+2} + \frac{(x-a)^2}{s+2} \right. \\ &\quad \left. + \left( a + \lambda\frac{b-a}{2} - x \right) \frac{(x-a)}{s+1} \right] [|f'(a)| + |f'(b)|] \end{aligned}$$

for all  $\lambda \in [0, 1]$  and  $a + \lambda\frac{b-a}{2} \leq x \leq \frac{a+b}{2}$ .

**Proof.** From Lemma 1 and using the properties of the modulus, we have

$$\begin{aligned} |M| &= \left| (b-a) \left[ \lambda \frac{f(a)+f(b)}{2} + (1-\lambda) \frac{f(x)+f(a+b-x)}{2} \right] - \int_a^b f(t)dt \right| \\ &\leq \int_a^b |K(x, t)| |f'(t)| dt \\ &= \int_a^x \left| t - \left( a + \lambda\frac{b-a}{2} \right) \right| |f'(t)| dt + \int_x^{a+b-x} \left| t - \frac{a+b}{2} \right| |f'(t)| dt \\ &\quad + \int_{a+b-x}^b \left| t - \left( b - \lambda\frac{b-a}{2} \right) \right| |f'(t)| dt. \end{aligned}$$

Since  $|f'|$  is  $s$ -convex on  $[a, b] = [a, x] \cup (x, a+b-x) \cup (a+b-x, b]$ , therefore we have

$$|f'(t)| \leq \left(\frac{t-a}{x-a}\right)^s |f'(x)| + \left(\frac{x-t}{x-a}\right)^s |f'(a)|, \quad t \in [a, x];$$

$$|f'(t)| \leq \left(\frac{t-x}{a+b-2x}\right)^s |f'(a+b-x)| + \left(\frac{a+b-x-t}{a+b-2x}\right)^s |f'(x)|, \quad t \in (x, a+b-x]$$

and

$$|f'(t)| \leq \left(\frac{t-a-b+x}{x-a}\right)^s |f'(b)| + \left(\frac{b-t}{x-a}\right)^s |f'(a+b-x)|, \quad t \in (a+b-x, b]$$

which follows that

$$\begin{aligned} |M| &\leq \int_a^x \left| t - \left( a + \lambda \frac{b-a}{2} \right) \right| \left[ \left( \frac{t-a}{x-a} \right)^s |f'(x)| + \left( \frac{x-t}{x-a} \right)^s |f'(a)| \right] dt \\ &+ \int_x^{a+b-x} \left| t - \frac{a+b}{2} \right| \left[ \left( \frac{t-x}{a+b-2x} \right)^s |f'(a+b-x)| + \left( \frac{a+b-x-t}{a+b-2x} \right)^s |f'(x)| \right] dt \\ &+ \int_{a+b-x}^b \left| t - \left( b - \lambda \frac{b-a}{2} \right) \right| \left[ \left( \frac{t-a-b+x}{x-a} \right)^s |f'(b)| + \left( \frac{b-t}{x-a} \right)^s |f'(a+b-x)| \right] dt \\ &= \int_a^{a+\lambda\frac{b-a}{2}} \left( a + \lambda \frac{b-a}{2} - t \right) \left[ \left( \frac{t-a}{x-a} \right)^s |f'(x)| + \left( \frac{x-t}{x-a} \right)^s |f'(a)| \right] dt \\ &+ \int_{a+\lambda\frac{b-a}{2}}^x \left( t - a - \lambda \frac{b-a}{2} \right) \left[ \left( \frac{t-a}{x-a} \right)^s |f'(x)| + \left( \frac{x-t}{x-a} \right)^s |f'(a)| \right] dt \\ &+ \int_x^{\frac{a+b}{2}} \left( \frac{a+b}{2} - t \right) \left[ \left( \frac{t-x}{a+b-2x} \right)^s |f'(a+b-x)| + \left( \frac{a+b-x-t}{a+b-2x} \right)^s |f'(x)| \right] dt \\ &+ \int_{\frac{a+b}{2}}^{a+b-x} \left( t - \frac{a+b}{2} \right) \left[ \left( \frac{t-x}{a+b-2x} \right)^s |f'(a+b-x)| + \left( \frac{a+b-x-t}{a+b-2x} \right)^s |f'(x)| \right] dt \\ &+ \int_{a+b-x}^{b-\lambda\frac{b-a}{2}} \left( b - \lambda \frac{b-a}{2} - t \right) \left[ \left( \frac{t-a-b+x}{x-a} \right)^s |f'(b)| + \left( \frac{b-t}{x-a} \right)^s |f'(a+b-x)| \right] dt \\ &+ \int_{b-\lambda\frac{b-a}{2}}^b \left( t - b + \lambda \frac{b-a}{2} \right) \left[ \left( \frac{t-a-b+x}{x-a} \right)^s |f'(b)| + \left( \frac{b-t}{x-a} \right)^s |f'(a+b-x)| \right] dt \\ &= \left[ \frac{2}{(x-a)^s(s+1)(s+2)} \left( \lambda \frac{b-a}{2} \right)^{s+2} + \frac{(x-a)^2}{s+2} - \left( \lambda \frac{b-a}{2} \right) \frac{(x-a)}{s+1} \right. \\ &+ \left. \frac{s2^{s+1}+1}{2^{s+1}(s+1)(s+2)} (a+b-2x)^2 \right] \times [|f'(x)| + |f'(a+b-2x)|] \\ &+ \left[ \frac{2}{(x-a)^s(s+1)(s+2)} \left( x - a - \lambda \frac{b-a}{2} \right)^{s+2} + \frac{(x-a)^2}{s+2} \right. \\ &\times \left. + \left( a + \lambda \frac{b-a}{2} - x \right) \frac{(x-a)}{s+1} \right] \times [|f'(a)| + |f'(b)|] \end{aligned}$$

where we use the facts

$$\begin{aligned} \int_a^{a+\lambda\frac{b-a}{2}} \left( a + \lambda \frac{b-a}{2} - t \right) \left( \frac{t-a}{x-a} \right)^s dt &= \int_{b-\lambda\frac{b-a}{2}}^b \left( t - b + \lambda \frac{b-a}{2} \right) \left( \frac{b-t}{x-a} \right)^s dt \\ &= \frac{1}{(x-a)^s(s+1)(s+2)} \left( \lambda \frac{b-a}{2} \right)^{s+2}, \end{aligned}$$

$$\begin{aligned} \int_{a+\lambda\frac{b-a}{2}}^x \left( t - a - \lambda \frac{b-a}{2} \right) \left( \frac{x-t}{x-a} \right)^s dt &= \int_{a+b-x}^{b-\lambda\frac{b-a}{2}} \left( b - \lambda \frac{b-a}{2} - t \right) \left( \frac{t-a-b+x}{x-a} \right)^s dt \\ &= \frac{1}{(x-a)^s(s+1)(s+2)} \left( x - a - \lambda \frac{b-a}{2} \right)^{s+2}, \end{aligned}$$

$$\int_x^{\frac{a+b}{2}} \left( \frac{a+b}{2} - t \right) \left( \frac{t-x}{a+b-2x} \right)^s dt = \int_{\frac{a+b}{2}}^{a+b-x} \left( t - \frac{a+b}{2} \right) \left( \frac{a+b-x-t}{a+b-2x} \right)^s dt$$

$$= \frac{1}{2^{s+2}(s+1)(s+2)} (a+b-2x)^2,$$

$$\int_x^{\frac{a+b}{2}} \left( \frac{a+b}{2} - t \right) \left( \frac{a+b-x-t}{a+b-2x} \right)^s dt = \int_{\frac{a+b}{2}}^{a+b-x} \left( t - \frac{a+b}{2} \right) \left( \frac{t-x}{a+b-2x} \right)^s dt$$

$$= \frac{s2^{s+1}+1}{2^{s+2}(s+1)(s+2)} (a+b-2x)^2,$$

$$\int_{a+b-x}^{b-\lambda\frac{b-a}{2}} \left( b - \lambda\frac{b-a}{2} - t \right) \left( \frac{b-t}{x-a} \right)^s dt$$

$$= \int_{a+\lambda\frac{b-a}{2}}^x \left( t - a - \lambda\frac{b-a}{2} \right) \left( \frac{t-a}{x-a} \right)^s dt$$

$$= \frac{1}{(x-a)^s} \left[ \frac{(x-a)^{s+2}}{s+2} - \lambda\frac{b-a}{2} \frac{(x-a)^{s+1}}{s+1} + \frac{1}{(s+1)(s+2)} \left( \lambda\frac{b-a}{2} \right)^{s+2} \right]$$

and

$$\int_a^{a+\lambda\frac{b-a}{2}} \left( a + \lambda\frac{b-a}{2} - t \right) \left( \frac{x-t}{x-a} \right)^s dt$$

$$= \int_{b-\lambda\frac{b-a}{2}}^b \left( t - b + \lambda\frac{b-a}{2} \right) \left( \frac{t-a-b+x}{x-a} \right)^s dt$$

$$= \frac{1}{(x-a)^s} \left[ \frac{(x-a)^{s+2}}{s+2} + \left( a + \lambda\frac{b-a}{2} - x \right) \frac{(x-a)^{s+1}}{s+1} + \frac{1}{(s+1)(s+2)} \left( x - a - \lambda\frac{b-a}{2} \right)^{s+2} \right].$$

**Remark 2** In Theorem 2, if we choose  $s = 1$ , Theorem 2 reduces to Theorem 1.

**Remark 3** In Theorem 2, if we choose  $\lambda = 0$ , we obtain Theorem 4.10.1 which is proved in [4].

### 3. Applications to Some Special Means

We now consider the applications of our theorems to the following special means

a) The arithmetic mean:

$$A = A(a, b) := \frac{a+b}{2}, \quad a, b \geq 0,$$

b) The harmonic mean:

$$H = H(a, b) := \frac{2ab}{a+b}, \quad a, b \geq 0,$$

c) The logarithmic mean:

$$L = L(a, b) := \begin{cases} a & \text{if } a = b \\ \frac{b-a}{\ln b - \ln a} & \text{if } a \neq b \end{cases}, \quad a, b \geq 0$$

d) The  $p$ -logarithmic mean:

$$L_p = L_p(a, b) := \begin{cases} a & \text{if } a = b \\ \left[ \frac{b^{p+1} - a^{p+1}}{(p+1)(b-a)} \right]^{\frac{1}{p}} & \text{if } a \neq b \end{cases}, \quad p \in \mathbb{R} \setminus \{-1, 0\}; \quad a, b \geq 0$$

We now derive some sophisticated bounds of the above means.

**Proposition 1** For all  $a, b, x > 0$ ,  $\lambda \in [0, 1]$  and  $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$ . we have

$$\begin{aligned} & |(b-a)[\lambda A(a^n, b^n) + (1-\lambda)A(x^n, (a+b-x)^n)] - (b-a)L_n^n(a, b)| \\ & \leq K \times A(x^{n-1}, (a+b-x)^{n-1}) + L \times A(a^{n-1}, b^{n-1}) \end{aligned}$$

where

$$\begin{aligned} K &= \frac{n}{12} \left[ 3(a+b-2x)^2 + 8(a-x)^2 - 6(a-b)(a-x)\lambda + \frac{(a-b)^3 \lambda^3}{a-x} \right] \\ L &= \frac{n}{12} \left[ 4(a-x)^2 - 6(a-b)(a-x)\lambda + 6(a-b)^2 \lambda^2 - \frac{(a-b)^3 \lambda^3}{a-x} \right]. \end{aligned}$$

**Proof.** By applying  $f(x) = x^n$  for  $n \geq 2$  to Theorem 1, we get the result.

**Proposition 2** For all  $a, b, x > 0$ ,  $\lambda \in [0, 1]$  and  $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$ . we have

$$\begin{aligned} & |(b-a)[\lambda H^{-1}(a, b) + (1-\lambda)H^{-1}(x, a+b-x)] - (b-a)L^{-1}(a, b)| \\ & \leq M \times H^{-1}(x^2, (a+b-x)^2) + N \times H^{-1}(a^2, b^2) \end{aligned}$$

where

$$\begin{aligned} M &= \frac{1}{12} \left[ 3(a+b-2x)^2 + 8(a-x)^2 - 6(a-b)(a-x)\lambda + \frac{(a-b)^3 \lambda^3}{a-x} \right] \\ N &= \frac{1}{12} \left[ 4(a-x)^2 - 6(a-b)(a-x)\lambda + 6(a-b)^2 \lambda^2 - \frac{(a-b)^3 \lambda^3}{a-x} \right]. \end{aligned}$$

**Proof.** By applying  $f(x) = \frac{1}{x}$  to Theorem 1, we get the result.

**Proposition 3** For all  $a, b > 0$ ,  $x, \lambda \in [0, 1]$ ,  $s \in (0, 1)$  and  $a + \lambda \frac{b-a}{2} \leq x \leq \frac{a+b}{2}$ , we have

$$\begin{aligned} & |(b-a)[\lambda A(a^s, b^s) + (1-\lambda)A(x^s, (a+b-x)^s)] - (b-a)L_s^s(a, b)| \\ & \leq P \times A(x^{s-1}, (a+b-2x)^{s-1}) + R \times A(a^{s-1}, b^{s-1}) \end{aligned}$$

where

$$\begin{aligned} P &= \frac{2}{(x-a)^s(s+1)(s+2)} \left( \lambda \frac{b-a}{2} \right)^{s+2} + \frac{(x-a)^2}{s+2} - \left( \lambda \frac{b-a}{2} \right) \frac{(x-a)}{s+1} \\ &+ \frac{s2^s+1}{2^{s+1}(s+1)(s+2)} (a+b-2x)^2 \\ R &= \frac{2}{(x-a)^s(s+1)(s+2)} \left( x-a-\lambda \frac{b-a}{2} \right)^{s+2} + \frac{(x-a)^2}{s+2} + \left( a + \lambda \frac{b-a}{2} - x \right) \frac{(x-a)}{s+1} \end{aligned}$$

**Proof.** The assertion follows from Theorem 2 applied for  $f(x) = x^s$ .

### References

- ALOMARI, M.W., A companion of Dragomir's generalization of Ostrowski's inequality and applications in numerical integration, RGMIA Res. Rep. Coll., Vol. 14, Article 50, 2011.
- ALOMARI, M.W., ÖZDEMİR, M.E., AND KAVURMACI, H., On companion of Ostrowski inequality for mappings whose first derivatives absolute value are convex with applications, Miskolc Mathematical Notes, 13(2) (2012), 233-248.
- HUDZIK, H., MALIGRANDA, L., Some remarks on s-convex functions, Aequationes Math. 48 (1994), 100–111.
- KAVURMACI, H., Bazı farklı türden konveks fonksiyonlar için Ostrowski ve Hermite-Hadamard tipli integral eşitsizlikleri, Ph. D. Thesis, Atatürk University, 2012.
- OSTROWSKI, A., Über die Absolutabweichung einer differentierbaren Funktion von ihren Integralmittelwert, Comment. Math. Helv., 10 (1938), 226-227.
- KASHURI, A., LIKO, R. and DU, T., Some New Ostrowski Type Inequalities Concerning Differentiable Generalized Relative Semi-(r; m, p, q, h<sub>1</sub>, h<sub>2</sub>)- Preinvex Mappings, Turkish Journal of Analysis and Number Theory, 6 (1) (2018), 16-29.